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Which of the following statements is false?

Downloaded From www.castudynotes.com
(a) Statistics is derived from the Latin word ‘Status’
(b) Statistics is derived from the Italian word ‘Statista’
(c) Statistics is derived from the French word ‘Statistik’

(d) None of these.
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2. Statistics is defined in tegé%ls of numerical data in the

Downloa From www.castudynotes.com
(a) Singular sense (b) Plural sense
(c) Either (a) or (b) (d) Both (a) and (b).

CA. PRANAV POPAT
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3.

Statistics is applied in
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(a) Economics (b) Business management

(c) Commerce and industry (d) All these.

CA. PRANAV POPAT
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4. Statistics is concerned with
Downloaded From www.castudynotes.com

(a) Qualitative information (b) Quantitative information
(c) (a) or (b) (d) Both (a) and (b).
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5.

An attribute is

Downloaded From www.castu otes com
(a) A qualitative characteristic

(c) A measurable characteristic (d) All these.

CA. PRANAV POPAT
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6.

Armual income Of %Rv%rosa(g& Iirsom www.castudynotes.com
(a) An attribute (b) A discrete variable

(c) A continuous variable (d) (b) or (c).

CA. PRANAV POPAT
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7.

Marks of a student [i&NaIEh@Kamplﬁv\Qgstudynotes.com
(a) An attribute (b) A discrete variable

(c) A continuous variable (d) None of these.

CA. PRANAV POPAT
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8.

Nationality of a student is
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(a) An attribute (b) A continuous variable
(c) A discrete variable (d) (a) or (c).

CA. PRANAV POPAT
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9.

Drinking habit of a person is
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(a) An attribute (b) A variable

(c) A discrete variable

CA. PRANAV POPAT
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10. Age of a person 1 Semlesded [Fra www.castudynotes.com

(a) An attribute (b) A discrete variable
(c) A continuous variable (d) A variable.

CA. PRANAV POPAT
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11. Data collected on reh%mn from the census reyorts are
nloaded From www.castudynotes.c

(a) Primary data
(c) Sample data

(b) Secondary data
(d) (a) or (b).

CA. PRANAV POPAT
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12. The data collected on the height of a group of students after recording their heights with

a measuring tape are Downloaded From www.castudynotes.com
(a) Primary data (b) Secondary data
(c) Discrete data (d) Continuous data.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
Il



http://www.castudynotes.com
http://www.castudynotes.com

b

&
rom w

13. The primary data are collect
(a) Interview method

(c) Questionnaire method

\/X/.castudynotes.com

(b) Observation method
(d) All these.

CA. PRANAV POPAT

Downlog

#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

14. The quickest method to collect primary data is
Downloaded From'www.castudynotes.com

(a) Personal interview (b) Indirect interview

(c) Telephone interview (d) By observation.

CA. PRANAV POPAT
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15. The best method to collect data, in case of a natural calamity, is
i . Downloaded From www.castudynotes.com ) .
(a) Personal interview d) Indirect interview

(c) Questionnaire method (d) Direct observation method.

CA. PRANAV POPAT
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16. In case of a rail accident, the appropriate method of data collection is by

. . Downloaded From www.castudyngtes.com . .
(a) Personal interview ?ia? Birect interview

(c) Indirect interview (d) All these.

CA. PRANAV POPAT
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17. Which method of data collection covers the widest area?
(a) Telephone interview ‘method " WWW'E%S)tUdKKgﬁ%&D Irc':iues’cia::)nn::‘.ire method

(c) Direct interview method (d) All these.

CA. PRANAV POPAT
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18. The amount of non-responses is maximum in
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(a) Mailed questionnaire method (b) Interview method
(c) Observation method (d) All these.

CA. PRANAV POPAT
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19. Some important sources of secondary data are
Downloaded From www.castudynotes.com
(a) International and Government sources
(b) International and primary sources
(c) Private and primary sources

(d) Government sources.
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20. Internal consistency of the collected data can be checked when
. Downloaded From www.castudynotes.com .
(a) Internal data are given (b) External data are given

(c) Two or more series are given (d) A number of related series are given.

CA. PRANAV POPAT
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21. The accuracy and consistencpy of data can be verified by

Downloaded m www.castudynotes.com
(a) Internal checking (b) External checking
(c) Scrutiny (d) Both (a) and (b).
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22. The mode of presentation of data are
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(a) Textual, tabulation and diagrammatic (b) Tabular, internal and external

(c) Textual, tabular and internal (d) Tabular, textual and external.

CA. PRANAV POPAT
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23. The best method ofDEVmOsaedl;dtgtion of data is

rom www.castudynotes.com

(a) Textual (b) Tabular
(c) Diagrammatic (d) (b) and (c).

CA. PRANAV POPAT
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24. The most attractive [;yethgg ngf data presentation is
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(a) Tabular (b) Textual
(c) Diagrammatic (d) (a) or (b).

CA. PRANAV POPAT
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25. For tabulation, ‘caption’ is
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(a) The upper part of the table (b) The lower part of the table

(c) The main part of the table (d) The upper part of a table that describes the

column and sub-column.

CA. PRANAV POPAT
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26.

‘Stub’ Of a table is thmwnloaded From www.castudynotes.com
(a) Left part of the table describing the columns

(b) Right part of the table describing the columns
(c) Right part of the table describing the fg)/vsAu these.

(d) Left part of the table describing the rows.

CA. PRANAV POPAT
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27. The entire upper pagabadAble IS KROWIAS com
(a) Caption (b) Stub
(c) Box head (d) Body.

CA. PRANAV POPAT
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28. The unit of measuremenkdn-tabirlationisoshawn in
(a) Box head (b) Body

(c) Caption (d) Stub.

CA. PRANAV POPAT
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29. In tabulation sourcg.gf dhe; datanif aywisshgwn in the
(a) Footnote (b) Body

(c) Stub (d) Caption.

CA. PRANAV POPAT
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30. Which of the following statements is untrue for tabulation?
Downloaded From www.castudynotes.com
(a) Statistical analysis of data requires tabulation
(b) It facilitates comparison between rows and not columns
(c) Complicated data can be presented

(d) Diagrammatic representation of data requires tabulation.

CA. PRANAV POPAT
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31. Hidden trend, if any. in the data can b

(a) Textual presentation

(c) Diagrammatic representation

e noticed in

ynotes.com

(b) Tabulation
(d) All these.

CA. PRANAV POPAT
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32. Diagrammatic representation of data is done by
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(a) Diagrams (b) Charts
(c) Pictures (d) All these.

CA. PRANAV POPAT
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33. The most accurate ngod%agf data presentation is

own ed From www.castudynotes.com

(a) Diagrammatic method (b) Tabulation

(c) Textual presentation (d) None of these.
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34. The chart that uses L%&qgggm of the variable is known as

om www.castudynotes.com

(a) Line chart (b) Ratio chart
(c) Multiple line chart (d) Component line chart.

CA. PRANAV POPAT
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35. Multiple line chart is applied for
() Showing multiple Charl%)sownloaded From www.castudynotes.com

(b) Two or more related time series when the variables are expressed in the same unit

(c) Two or more related time series when the variables are expressed in different unit

(d) Multiple variations in the time series.

CA. PRANAV POPAT
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36. Multiple axis line chart is considered when

Down

(a) There is more than one time series

(c) (a)or (b)

CA. PRANAV POPAT
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(d) (a) and (b).
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37. Horizontal bar diag)ra

is used for
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(a) Qualitative data

(c) Data varying over space

(b) Data varying over time

(d) (a) or (c).

CA. PRANAV POPAT
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38. Vertical bar diagrag, i3.8RRH6aRIE W ces com
(a) The data are qualitative

(b) The data are quantitative

(c) When the data vary over time

(d) (b) or (c).

CA. PRANAV POPAT
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39. Divided bar chart ig, congigerec 1or udynotes.con
(a) Comparing different components of a variable
(b) The relation of different components to the table
(c) (a) or (b)

(d) (a) and (b).

CA. PRANAV POPAT
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40. In order to compare two or more related series, we consider
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(a) Multiple bar chart
(b) Grouped bar chart

(c) (a) or (b)
(d) (a) and (b).

CA. PRANAV POPAT
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41. Pie-diagram is used for
Downloaded From www.castudynotes.com

(a) Comparing different components and their relation to the total

(b) Representing qualitative data in a circle

(c) Representing quantitative data in circle

(d) (b) or (c).

CA. PRANAV POPAT
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42 A frequency dls’fﬂb%@ﬂ&ded From www.castudynotes.com
(a) Arranges observations in an increasing order

(b) Arranges observation in terms of a number of groups

(c) Relates to a measurable characteristic
(d) All these.

CA. PRANAV POPAT
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43. The frequency distribution of a continuous variable is known as

own

om www.castudynotes.com

(a) Grouped frequency distribution

(b) Simple frequency distribution

() (a)or (b)
(d) (a) and (b).

CA. PRANAV POPAT
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44. The distribution of shares is an example of the frequency distribution of
Downloaded From www.castudynotes.com
(a) A discrete variable
(b) A continuous variable

(c) An attribute
(d) (a) or (c).

CA. PRANAV POPAT
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45. The distribution of profits of a blue-chip company relates to
ownloaded From www.castudynotes.com
(a) Discrete variable
(b) Continuous variable
(c) Attributes

(d) (a) or (b).

CA. PRANAV POPAT
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46. Mutually exclusive classification
Downloaded From www.castudynotes.com
(a) Excludes both the class limits
(b) Excludes the upper class limit but includes the lower class limit

(c) Includes the upper class limit but excludes the upper class limit
(d) Either (b) or (c).

CA. PRANAV POPAT
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47. Mutually inclusive glassification is usually meant for
(a) A discrete variable
(b) A continuous variable
(c) An attribute
(d) All these.

CA. PRANAV POPAT
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48. Mutually exclusive clagstiication. 1s usyacy. meant for
(a) A discrete variable
(b) A continuous variable
(c) An attribute

(d) Any of these.

CA. PRANAV POPAT
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49. The LCB is
(a) An upper limit to LCL
(b) A lower limit to LCL

(c) (a) and (b)
(d) (a) or (b).

CA. PRANAV POPAT
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50. The UCB is

Downloaded From www.castudynotes.com

(@) An upper limit to UCL (b) A lower limit to LCL

(c) Both (a) and (b) (d) (a) or (b).

CA. PRANAV POPAT
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51. length of a class is Sownloaded From ww castudynotes.com
(a) The difference between the UCB and LCB of that class
(b) The difference between the UCL and LCL of that class
(c) (a)or (b)

(d) Both (a) and (b).

CA. PRANAV POPAT
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52. For a particular class boundary, the less than cumulative frequency and more than
cumulative frequency add%p[ql@aded From www.castudynotes.com

(a) Total frequency (b) Fifty per cent of the total frequency
(c) (a)or (b) (d) None of these.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com

ri W ca



http://www.castudynotes.com
http://www.castudynotes.com

53. Frequency density corresponding to a class interval is the ratio of
(a) Class frequency to the tgt.ﬁ\ﬂ{'%a%eéjnﬁoTbvywvb‘fgg}suﬁyen ieney to the class length
LS SRR RIS/ &
(c) Class length to the class frequency (d) Class frequency to the cumulative frequency.

CA. PRANAV POPAT
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54. Relative frequency for a particular class
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(a) Lies between 0 and 1 @ﬁ) e

(c) Lies between -1 and 0 (d) Lies between -1 to 1.

CA. PRANAV POPAT
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55.

Mode of a distribution can be obtained from
Downloaded From www.castudynotes.com

(a) Histogram (b) Less than type ogives

(c) More than type ogives

CA. PRANAV POPAT
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56. Median of a distribution can be obtained from
Downloaded From www.castudynotes.com

(a) Frequency polygon (b) Histogram
(c) Less than type ogives (d) None of these.

CA. PRANAV POPAT
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57. A comparison amogg the clags frequensics igpossible only in
(a) Frequency polygon (b) Histogram

(c) Ogives (d) (a) or (b).

CA. PRANAV POPAT
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58. Frequency curve is g, iRuHing.f0Rm. Qudynotes.com
(a) Frequency polygon (b) Histogram

(c) (a) or (b) (d) (a) and (b).

CA. PRANAV POPAT
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59. Most of the commggply, 1dsed . frearency, crLtvgs are

(a) Mixed (b) Inverted J-shaped

(c) U-shaped (d) Bell-shaped.

CA. PRANAV POPAT
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60. The distribution of profits of a company follows
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(a) J-shaped frequency curve (b) U-shaped frequency curve
(c) Bell-shaped frequency curve (d) Any of these.

CA. PRANAV POPAT
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Jan 202' Downloaded From www.castudynotes.com

Sweetness of sweet dish is.
(a) An Attribute

(b) A discrete variable

(c) A continuous variable
(d) A variable

(1 mark)

CA. PRANAV POPAT
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Which of the following is syitable for the gr ‘aphical representation of

ownloaded From www.ca

a Cumulative frequency distribution ?

(a) Frequency polygon

(b) Histogram

(c) O give

(d) Pie chart (1 mark)

CA. PRANAV POPAT
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Most of the Commonly used distributions provide a.

(a) Bell - Shaped

(b) U Shaped

(c) J - Shaped Curve
(d) Mixed Curve

CA. PRANAV POPAT
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Mode can be obtaineq) (fm

(a) Frequency polygon
(b) Histogram

(c) Ogive

(d) All of the above

m
oadedFronmmwww.castudynotes.com
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The left part of a table prm;iding the description of rows is called.
(a) Caption Downloaded From www.castudynotes.com

(b) Box - head

(c) Stub
(d) Body

(1 mark)

CA. PRANAV POPAT
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From a histogram one cannot compute the approximate value of
Downloaded From'www.castudyn .com
(a) Mode

(b) Standard deviation
(¢) Median
(d) Mean (1 mark)

CA. PRANAV POPAT
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The accuracy and consistencgdof data can be verified by

(a) Scrutiny

(b) Internal Checking
(c) External Checking
(d) Double Checking

Download

From www.castudynotes.com

(1 mark)

CA. PRANAV POPAT
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A variable with qualitative characteristic is known as
] ] Downloaded From www.castudynotes.com
(a) Quality Variable

(b) An attribute
(c) A discrete variable
(d) A continuous variable (1 mark)

CA. PRANAV POPAT
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A tabular presentation can be used for

. . Downloaded From www.castudynotes.com
(a) Continuous series data
(b) Nominal data

(c) Time series data for longer period

(d) Primary data (1 mark)

CA. PRANAV POPAT
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A bar chart is drawn for
(a) Continuous data
(b) Nominal data

(c) Time series data

Downloaded From www.castudynotes.com

(d) Comparing different components

CA. PRANAV POPAT
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Dec 2020

Downloaded From www.castudynotes.com

When data are classified according to one criterion, then it is called
classification.

(a) quantitative
(b) qualitative
(c) simple

(d) factored

(1 mark)

GCEL. IFIKAANAV IFUIFEAA]
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relationship between two variables.

(a) Bar Graph
(b) Pie Chart
(c) Line Chart
(d) Scatter Plot (1 mark)

CA. PRANAV POPAT
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You are an auditor of a firm a d the firm earns a profit of ¥ 67,000
you stated to them that tH&"2AKUAT ProFifis ¥67:000. This is
type of statistics.

(a) Descriptive

(b) Detailed

(c) Non detailed

(d) Inferential (1 mark)

CA. PRANAV POPAT
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S.No.Descriptive StatistDewnloaded From www.cdsfadymatestabstics

1.

It gives information about raw data which It makes inference about population
describes the data in some manner. using data drawn from the population.
It helps in organizing, analyzing and to It allows us to compare data, make
present data in a meaningful manner. hypothesis and predictions.

Itis used to describe a situation. It is used to explain the chance of

occurrence of an event.

It explain already known data and limited to It attempts to reach the conclusion

a sample or population having small size. about the population.

It can be achieved with the help of charts, It can be achieved by probability.

graphs, tables etc.
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Types of cumulative fr%gNLA%ngg%s re:

ww.castudynotes.com

(a) 1
(b) 2
(c) 3
(d) 4

rom

(1 mark)
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Census reports are used as a source of date.

(a) Secondary Downloaded From www.castudynotes.com

(b) Primary

(c) Organize

(d) Confidential (1 mark)
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Sweetness of a sweet dish is:
. Downloaded From www.castudynotes.com
(a) Attribute

(b) Discrete variable
(c) Continuous variable
(d) Variable (1 mark)
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Statistics cannot deal w[;mn

(a) quantitative
(b) qualitative
(c) textual

(d) undetailed

CA. PRANAV POPAT
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The average of salariesjn afagtory mg 47,000, The Statement that the
average salary ¥ 47,000 is

(a) Descriptive statics

(b) Inferential

(c) Detailed

(d) Undetailed (1 mark)

CA. PRANAV POPAT
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N OV 20 I 9 Downloaded From www.castudynotes.com

The graphical representation of cumulative frequency distribution is
called.

(a) Histogram

(b) Historiagram

(c) Ogive

(d) None (1 mark)

CA. PRANAV POPAT
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J u ne 20 I 9 Downloaded From www.castudynotes.com

Histogram is used for finding
(a) Mode

(b) Mean

(c) First quartile

(d) None
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Ogive graph is used for finding
(a) Mean Downloaded From www.castudynotes.com

(b) Mode
(c) Median
(d) None
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Series is_continuous.
Downloaded From www.castudynotes.com
(a) Open ended
(b) Exclusive
(c) Close ended
(d) Unequal call intervals
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Histogram can be shown as
. Downloaded From www.castudynotes.com
(a) Ellipse

(b) Rectangle
(c) Hyperbola
(d) Circle

CA. PRANAV POPAT
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Which of the followingo.grapk: ismsuitableyiats ewsmulative frequency
distribution?

(a) ‘O’give
(b) Histogram
(c) G.M

(c) AM

CA. PRANAV POPAT
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Nov 20I8

Downloaded From www.castudynotes.com

An ogive is a graphical representation of
(a) Cumulative frequency distribution
(b) A frequency distribution

(c) Ungrouped data

(d) None of the above

CA. PRANAV POPAT
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The-number of times aDpartig:eg rOrmi;[v MS, QFCUL .Coinrg a class interval is

wnloa ww.castu

called its:
(a) Mean (b) Frequency
(c) Cumulative frequency (d) None of the above

CA. PRANAV POPAT
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A suitable graph for representing the portioning of total into sub parts

in StatiStiCS iS: Downloaded From www.castudynotes.com
(a) A Pie chart (b) A pictograph
(c) An ogive (d) Histogram (1 mark)

CA. PRANAV POPAT
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Data are said to be If the investiugator himself is responsible
—___Downloac

ownloaded From www.cast

for the collection of the data.

(a) Primary data

(b) Secondary data

(c) Mixed of primary and secondary data

ynotes.com

(d) None of the above (1 mark)

CA. PRANAV POPAT
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Histogram is useful to determine graphically the value of

(a) Arithmetic mean (b) Median
(c) Mode (d) None of the above

CA. PRANAV POPAT
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The fOHOWing frequenCEOQL%mgLILH)QQ/WW.castudynotes.com
X : 12 17 24

F : 2 5 3

IS classified as

(a) Continuous distribution

(b) Discrete distribution

(c) Cumulative frequency distribution
(d) None of the above
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M a)’ 20 I 8 Downloaded From www.castudynotes.com

Divided bar chart is considered for

(a) Comparing different components of a variable
(b) The relation of different components to the table
(c) (a) or (b)

(d) (a)and (b)

CA. PRANAV POPAT
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Frequency density is usedindhne.constauciionabn
(a) Histogram

(b) Ogive

(c) Frequency polygon

(d) None when the classes are of unequal width

CA. PRANAV POPAT
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Central Tendengy:.Study.Material.

1.

Measures of central tendency for a given set of observations measures

(a) The scatterness of the observations (b) The central location of the observations

(c) Both (a) and (b) (d) None of these.

CA. PRANAV POPAT
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2.

While computing the AM from a grouped frequency distribution, we assume that

ed Fl:ﬁm www.castudynotes.com

(a) The classes are of equecff‘ 50
(b) The classes have equal frequency

(c) All the values of a class are equal to the mid-value of that class
(d) None of these.

CA. PRANAV POPAT
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Which of the following statements is wrong?
(a) Mean is rigi[gﬂgrvncll%ﬁggcli:mm www.castudynotes.com
(b) Mean is not affected due to sampling fluctuations

(c) Mean has some mathematical properties
(d) All these

CA. PRANAV POPAT
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Which of the following statements is true?

(a) Usually meX818'83895SOMEALN LT LriET 428 dency
(b) Usually median is the best measure of central tendency
(c) Usually mode is the best measure of central tendency

(d) Normally, GM is the best measure of central tendency

CA. PRANAV POPAT
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5. For open-end classificatign, whigh of thefollendng,issihe bsst measure of central tendency?
(a) AM (b) GM (¢) Median (d) Mode

CA. PRANAV POPAT
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6.

The presence of extrerme o C?tlens does not affect

(@) A

Down oade From www.castudynotes.com

(b) Median (c) Mode (d) Any of these.

CA. PRANAV POPAT

Downlgaded astudypotes.com
#theoryhalzarurl



http://www.castudynotes.com
http://www.castudynotes.com

7.

: : o s
In case of an even number of observations w}yyno of the following is median?

ownioa rom www.castu
(a) Any of the two middle-most value

es.com

(b) The simple average of these two middle values

(c) The weighted average of these two middle values

(d) Any of these

CA. PRANAV POPAT
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8. The most commonly used measure of central tendency is
(a) AM (bg)mgcfaded From www. caitwiyraotes .com (d) Both GM and HM.

CA. PRANAV POPAT
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9. Which one of the following is not uniquely defined?
Downloaded From www.castudynotes.com

(a) Mean (b) Median (c) Mode (d) All of these measures

CA. PRANAV POPAT
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10. Which of the following measure of the central tendency is difficult to compute?
Downloaded From www.castudynotes.com

(a) Mean (b) Median (c) Mode (d) GM

CA. PRANAV POPAT
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11. Which measure(s) of central tendency is(are) considered for finding the average rates?
ownloaded From www.castudynotes.com
@ AM )

(c (d) Both (b) and (c)

CA. PRANAV POPAT
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12. For a moderately skewed distribution, which of he following relationship holds?
Downloaded From www.castudynotes.com

(a) Mean — Mode = 3 (Mean — Median) (b) Median — Mode = 3 (Mean — Median)
(¢) Mean — Median = 3 (Mean — Mode) (d) Mean — Median = 3 (Median — Mode)

CA. PRANAV POPAT
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13. Weighted averages are considered when
Downloaded From www.castudynotes.com
(a) The data are not classified
(b) The data are put in the form of grouped frequency distribution
(c) All the observations are not of equal importance

(d) Both (a) and (c).

CA. PRANAV POPAT
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14. Which of the following results hold for a set of distinct positive observations?

() AM >GM > HM Downloaded From www.cas(_%dylgﬁ\tfséc T\/I S AM
(c) AM > GM > HM (d) GM > AM > HM

CA. PRANAV POPAT
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15. When a firm registers both profits and losses, which of the following measure of central
tendency cannot be Consitﬁ)&yéﬁ?aded From www.castudynotes.com

(a) AM (b) GM (c) Median (d) Mode

CA. PRANAV POPAT
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16. Quartiles are the valul.szown ‘gg%‘%& iven set of qobs rvations into

WWW cas notes.com

(@) Twoequal parts  (b) Four equal parts (c) Five equal parts ~ (d) None of these

CA. PRANAV POPAT
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17. Quartiles can be detgppined &R 4R8ynotes.com
(a) Histogram (b) Frequency Polygon (c) Ogive (d) Pie chart.

CA. PRANAV POPAT
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18.  Which of the following measure(s) possesses (possess) mathematical properties?
(a) AM Dow(%l)oeﬁlﬂ From www.cas{g)dyﬁhtﬁs.com (d) All of these

CA. PRANAV POPAT
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19. Which of the following measure(s) satisfies (satisfy) a linear relationship between two
variables? Downloaded From www.castudynotes.com

(a) Mean (b) Median (c) Mode (d) All of these

CA. PRANAV POPAT
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20. Which of he following measures of central tendency is based on only fifty percent of the
central values? Downloaded From www.castudynotes.com

(a) Mean (b) Median (c) Mode (d) Both (a) and (b)

CA. PRANAV POPAT
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D i s pe rs io n: Stu GleMQEtﬁ IJ-viva(lastudynotes.com

1. Which of the following statements is correct?
(a) Two distributions may have identical measures of central tendency and dispersion.

(b) Two distributions may have the identical measures of central tendency but different
measures of dispersion.

(c) Two distributions may have the different measures of central tendency but identical
measures of dispersion.

(d) All the statements (a), (b) and (c).

CA. PRANAV POPAT
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2. Dispersion measures
(a) The scatterR¥E'9AAELEGMLBYM-SATHIfYy notes.com
(b) The concentration of a set of observations
(c) Both (a) and (b)
(d) Neither (a) and (b).

CA. PRANAV POPAT
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3.

When it comes to comparing two or more distributions we consider

(a) Absolute measures Y c@i@ﬁgﬁﬁgﬁom WWW'CaStL(ﬂ¥'1?éfz§ffﬁ?énmeasures of dispersion
(c) Both (a) and (b) (d) Either (a) or (b).

CA. PRANAV POPAT
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4.

Which one is easier to compute?

Do eraded From Www.castud(brﬁo

(a) Relative measures ot dispersion

(c) Both (a) and (b)

ABsoltite measures of dispersion
(d) Range

CA. PRANAV POPAT
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5.

Which one is an absolute measure of dispersion?
(a) Range Downloaded From Www.castudynotes(%cirﬂ/[ean Deviation

(c) Standard Deviation (d) All these measures

CA. PRANAV POPAT
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6.

Which measure of dispersion is most usefull?
ded F t t : e
(a) Standard cﬁ)evm fon oo rom www.cas udyno es(ﬁglbuartﬂe deviation

(c) Mean deviation (d) Range

CA. PRANAV POPAT
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7.

Which measures of dispersions is not affected by the presence of extreme observations?

Downloaded From www.castudynotes.com_ = |
(a) Range (b) Mean deviation

(c) Standard deviation (d) Quartile deviation

CA. PRANAV POPAT
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8.

Which measure of dispersion is based on the absolute deviations only?
(a) Standard devigiigipaded From www.castudynolgyqom. \ deviation

(c) Quartile deviation (d) Range

CA. PRANAV POPAT
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9.

Which measure is based on only the central fifty percent of the observations?

ownloaded From www.castudynotes.com
(a) Standard dev[lpatinn y(% Suartile deviation

(c) Mean deviation (d) All these measures

CA. PRANAV POPAT
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10. Which measure of dispersion is based on all the observations?
(a) Mean deviaffeinloaded From www.castudyngipSediard deviation
(c) Quartile deviation (d) (a) and (b) but not (c)

CA. PRANAV POPAT
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11. The appropriate measure of dispersion for open-end classification is
Downloaded From www.castudynotes.com ..
(a) Standard deviation U ?bssl\glean deviation

(¢) Quartile deviation (d) All these measures.

CA. PRANAV POPAT
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12. The most commonly used measure of dispersion is
(a) Range Downloaded From www.castudm?tgfﬁdrérd e
(c) Coefficient of variation (d) Quartile deviation.

CA. PRANAV POPAT
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13. Which measure of dispersion has some desirable mathematical properties?
(a) Standard devm Slr? aned| Pl castudyﬂ)o)tﬁgglr{l deviation

(c) Quartile deviation (d) All these measures

CA. PRANAV POPAT
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14. If the profits of a company remains the same for the last ten months, then the standard
deviation of profits for Bwesel e sneréhsweubddriedynotes.com

(a) Positive (b) Negative (c) Zero (d) (a) or (c)

CA. PRANAV POPAT
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15. Which measure of dispersion is considered for finding a pooled measure of dispersion after
combining several groupswwnloaded From www.castudynotes.com

(@) Mean deviation (b) Standard deviation
(¢) Quartile deviation (d) Any of these

CA. PRANAV POPAT
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16. A shift of origin has no impact on
(a) Range Downloaded From WWW'CaStuﬁ:}jrleSﬁﬁ%{Bviation

(c) Standard deviation (d) All these and quartile deviation.

CA. PRANAV POPAT
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17. The range of 15,12,10,9, 17,20 is
Downloaded From www.castudynotes.com

(@) 5 (b) 12 (c) 13 (d) 11.

CA. PRANAV POPAT
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18. The standard deviation of 10, 16, 10, 16, 10, 10, 16, 16 is
(a) 4 Downloa}o&eg From www.castudyn c}t%s .com

CA. PRANAV POPAT
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19. For any two numbers SD is always
Downloaded From www.castudynotes.com

(a) Twice the range (b) Half of the range
(c) Square of the range (d) None of these.

CA. PRANAV POPAT
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20. If all the observations are increased by 10, then
Downloaded From www.castudynotes.com
(@) SD would be increased by 10
(b) Mean deviation would be increased by 10
(c) Quartile deviation would be increased by 10

(d) All these three remain unchanged.

CA. PRANAV POPAT
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21. If all the observations are multiplied by 2, then
Downloaded From www.castudynotes.com
(a) New SD would be also multiplied by 2
(b) New SD would be half of the previous SD
(c) New SD would be increased by 2

(d) New SD would be decreased by 2.

CA. PRANAV POPAT
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Jan 202I - Central.Zendency.and.Dispersion

Which of the following is a relative measure of dispersion?

(a) Range

(b) Mean deviation

(c) Standard deviation

(d) Coefficient of quartile deviation (1 mark)

CA. PRANAV POPAT

Downlgade

#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

It is given that the mean (X) is 10 and standard deviation (s.d.) is 3.2.
If the observations are’ IS5 WA feHYAZHEW mean and
standard deviations are:

(@) X=10,s.d.=7.2
(b) X =10, s.d. = 3.2
(€) X =14,s.d.=3.2
(d) X =14,s.d.=7.2

(1 mark)

CA. PRANAV POPAT
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The best statistical measure é.le%%{% rLOVI\‘/ Vg:ﬁ&gﬁyig{gegggmseries IS

(a) Mean absolute deviation

(b) Range

(c) Coefficient of variation

(d) Standard deviation (1 mark)

CA. PRANAV POPAT
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If there are two groups with n, and n, observations and H, and H, are

respective harmonic RI¥AR&IHhERHE HEFRHONIC'TERR of combined

observation is
(a) n, H1 + n2H2

n, +n,
n,H, +n,H,
H, +H,
n, +n,

(b)

(c)

n,H; +n,H,

(n, +ny) H, + H,

(d)

n, H2+ n2H1

(1 mark)
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Which of the following measure does not possess mathematical
DFODEI‘TIES? Downloaded From www.castudynotes.com

(a) Arithmetic mean
(b) Geometric mean
(c) Harmonic mean

(d) Median (1 mark)

CA. PRANAV POPAT
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From the record on sizes of shoes sold in a shop, one can compute
the following to deRSMipRs thE MOSY P rESEITE SheE siZe.

(a) Mean

(b) Median

(c) Mode

(d) Range (1 mark)

CA. PRANAV POPAT
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Dec 2020 - Ceniral.tendency..and Dispersion

Which of the following measure of dispersion is based on absolute
deviations?

(a) Range

(b) S.D

(c) Mean Deviation

(d) Quartile Deviation (1 mark)

CA. PRANAV POPAT
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Ten matches data is given. Then which of the following cannot be
found? Downloaded From www.castudynotes.com

(a) least score

(b) Highest score

(c) Best score

(d) Median score (1 mark)

CA. PRANAV POPAT
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Which one of these is least affected by extreme values?
(a) Mean Downloaded From www.castudynotes.com

(b) Median
(c) Mode
(d) None

CA. PRANAV POPAT
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50" Percentile is equal to

(a) Median Downloaded From www.castudynotes.com

(b) Mode

(¢) Mean

(d) None (1 mark)

CA. PRANAV POPAT
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Which measure is suitable for open-end classification?

(a) Median Downloaded From www.castudynotes.com
(b) Mean

(c) Mode
(d) GM (1 mark)

CA. PRANAV POPAT
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Nov 2019 - Central.lendency.and Dispersion

Which of the fofIS;:;inQ is affected by shifting of scale.
(a) SD

(b) M
(C) QD
(d) None of these

CA. PRANAV POPAT
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Coefficient of variation is equal to:
( ) SD Downloaded From www.castudynotes.com
a

(b) SD %100

Mean
(c) Mean % 100
SD

Mean

Mean
(d) SD (1 mark)
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Origin is shifted by 5, what will happen

(a) SD will increase Bs;vsﬂoaded From www.castudynotes.com

(b) QD will increase by 5

(c) MD will increase by 5

(d) There will be no change in SD (1 mark)

CA. PRANAV POPAT
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The deviations are minimum when taken from:
D loaded F . d .
(a) Mean ownlioade rom www.castu ynotes com

(b) Median
(c) Mode
(d) None

CA. PRANAV POPAT
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pproximate ratio of SD, MD, QD is:

Downloaded From www.castudynotes.com
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June 2019 - CeniralJendency.and Dispersion

For a symmetric distribution

(a) Mean = Median = Mode

(b) Mode = 3 Median — 2 Mean

(c) Mode =% Median =% Mean

(d) None (1 mark)
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If the profifs of a company.remain.seme.for.the,last ten months then
the S.D. of profits of the company would be:

(a) Positive
(b) Negative
(c) Zero
(

d) (a) or(c) (1 mark)
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Which of the followingHs.pesitiQna).average ?
(a) Median

(b) GM
(c) HM
(d) AM

CA. PRANAV POPAT
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Nov 2018 - Central.lendengy.and Dispersion

Which one of the following is not a central tendency?
(a) Mean Deviation (b) Arithmetic mean
(c) Median (d) Mode (1 mark)
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arithmetic mean is )
(a) >0 (b) =0
(c) <0 (d) None of the above (1 mark)
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May 2018 - Central.lendengy.and Dispersion

The average of a series of overlapping averages, each of which is
based on a certain number of item within a series is know as.

(a) Moving average (b) Weighted average

(c) Simple average (d) None (1 mark)

CA. PRANAV POPAT
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If each item is reducegovtv:ur)llo15 A. Mis

(a) reduced by 15
(c) reduced by 10

aded From www.castudynotes.com

b) increased by 15
(d) none

(1 mark)
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(03_Q1) iS known as Downloaded From www.castudynotes.com
«33+Ch)

(a) Coefficient of Range (b) Coefficient of Q.D.
(c) Coefficient of S.D. (d) Coefficient of M.D.
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Relation between mean, median and mode is
(@) mean-mod@ S eaR-HeEar) ™ "
(b) mean-median = 3(mean-mode)

(c) mean-median = 2 (mean-mode)

(d) mean-mode = 3(mean-median)
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Study Mat - Corgelation.and.Regression

1.

Bivariate Data are the data collected for

(a) Two variables irrespective of time

(b) More than two variables

(c) Two variables at the same point of time
(d) Two variables at different points of time.
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2.

For a bivariate frequency table having (p + q) classification the total number of cells is
Downloaded From w.castudynotes.com
@ p ®)"p+q

© q (d) pq
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3.

Some of the cell frequencies in a bivariate frequency table may be

(a) Negative Downloaded From www.castudwﬁ)teiggan

(c) aorb (d) Non of these
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4.

For a p x q bivariate frequency table, the maximum number of marginal distributions is

@ p
() 1

Downloaded From WWW(EﬂStLtgy'ne[IES.COH‘I
(d) 2
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For a p x q classification of bivariate data, the maximum number of conditional distributions

1S

Downloaded From www.castudynotes.com

(@) p (b) p+q

(c)

Pq (d) porq
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6.

Correlation analysiy g @by From www.castudynotes.com
(a) Predicting one variable for a given value of the other variable

(b) Establishing relation between two variables

(c) Measuring the extent of relation between two variables
(d) Both (b) and (c).

CA. PRANAV POPAT
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7.

Regression analysis is concerned with

(a)
(b)
(c)

(d)

Establishing a mathBAY4HRAY$& FHABHENTH BEWF¥BAI NP Pariables

Measuring the extent of association between two variables

Predicting the value of the dependent variable for a given value of the independent

variable

Both (a) and (c).
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What is spurious correlation?

(a) Itisabad rAAMBRBERFERN WY Gari4Pagtes-com

(b) Itis very low correlation between two variables.

(c) Itis the correlation between two variables having no causal relation.
(d) Itisanegative correlation.

CA. PRANAV POPAT
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9. Scatter diagram is considered for measuring
(a) Lined™PélRERLAIR HEMVEER 1IS PATTAINTs
(b) Curvilinear relationship between two variables
(c) Neither (a) nor (b)
(d) Both (a) and (b).
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10. If the plotted points in a scatter diagram lie from upper left to lower right, then the

correlation is Downloaded From www.castudynotes.com
(El) Positive (b) Zero
(c) Negative (d) None of these.
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11. If the plotted points in a scatter diagram are evenly distributed, then the correlation is

(a) Zero Downloaded From www, Cf‘StK?é'ggte%om
(c) Positive d) (a)or (b).
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12. If all the plotted points in a scatter diagram lie on a single line, then the correlation is

(a) Perfect positive D°Wnicaded From www gastugypies Qo tive
(c) Both (a)and (b) (d) Either (a) or (b).

CA. PRANAV POPAT
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13. The correlation between shoe-size and intelligence is
(@) Zero Downloaded From www.castuﬁyro%a.gﬂ_ﬁre

(c) Negative (d) None of these.
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14. The correlation between the speed of an automobile and the distance travelled by it after
applying the brakesis Downloaded From www.castudynotes.com

(@) Negative (b) Zero
(c) Positive (d) None of these.
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15. Scatter diagram helps us to

. Dqownloaded Erom www,castudynotes.co.
(a) Find the nature correlation between fwo variables

(b) Compute the extent of correlation between two variables
(c) Obtain the mathematical relationship between two variables
(d) Both (a) and (c).
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Downlgad 2 gypnotes.com
Il



http://www.castudynotes.com
http://www.castudynotes.com

16. Pearson’s correlation coefficient is used for findin
Downloaded From www.castudynotes.com
(@) Correlation for any type of relation
(b) Correlation for linear relation only
(c) Correlation for curvilinear relation only

(d) Both (b) and (c).
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17. Product moment correlation coefficient is considered for
(a) FindinS e PHeE S BT eISES Y notes-com
(b) Finding the amount of correlation
(¢) Both (a) and (b)
(d) Either (a) and (b).

CA. PRANAV POPAT
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18. If the value of correlation coefficient is positive, then the points in a scatter diagram tend to
cluster Downloaded From www.castudynotes.com

(a) From lower left corner to upper right corner
(b) From lower left corner to lower right corner
(c) From lower right corner to upper left corner
(d) From lower right corner to upper right corner.

CA. PRANAV POPAT
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19. Whenr = 1, all the points in a scatter diagram would lie
(a) On a straigHRC A FEFEAHORY fFEREPRR TS (OBber right
(b) On a straight line directed from upper left to lower right
(c) On a straight line
(d) Both (a) and (b).

CA. PRANAV POPAT
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20. Product moment correlation coefficient may be defined as the ratio of
(a) The product of stand 2RVASAHISAS BHNY SERTVMIRETRS 88 the covariance between them
(b) The covariance between the variables to the product of the variances of them

(c) The covariance between the variables to the product of their standard deviations
(d) Either (b) or (c).

CA. PRANAV POPAT
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21.

The covariance between two variables is
(a) Strictly positive PoWnioaded From www.qastudyoler SRl ative

(c) Always0 (d) Either positive or negative or zero.
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22. The coefficient of correlation between two variables
Downloaded From www.castudynotes.com

(a) Can have any unit.
(b) Is expressed as the product of units of the two variables

(¢) Isa unit free measure
(d) None of these.

CA. PRANAV POPAT
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23. What are the limits of the correlation coefficient?

(a) No limit pownloaded From www.c SfUdZT%trel?;lc néxcludmg the limits
(c) 0Oand 1, including the limits (d) -1and 1, including the limits

CA. PRANAV POPAT
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24. In case the correlation coefficient between two variables is 1, the relationship between the
two variables would be Downloaded From www.castudynotes.com

(@) y=a+bx (b) y=a+bx,b>0
() y=a+bx,b<0 (d) y=a+bx, both a and b being positive.

CA. PRANAV POPAT
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25. If the relationship between two variables x and y in given by 2x + 3y + 4 = 0, then the value
of the correlation coefficidP@hdpadechxoandwwigastudynotes.com

@) 0 (b) 1
(c) -1 (d) negative.
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26. For finding correlation between two attributes, we consider
Downloaded From wwyy,castudynotes.com
(a) Pearson’s correlation coetficient
(b) Scatter diagram
(c) Spearman’s rank correlation coefficient

(d) Coefficient of concurrent deviations.
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27. For finding the degree of agreement about beauty between two Judges in a Beauty Contest,

we use Downloaded From www.castudynotes.com
(@) Scatter diagram (b) Coefficient of rank correlation
(c) Coefficient of correlation (d) Coefficient of concurrent deviation.

CA. PRANAV POPAT
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28. If thereis a perfect disagreement between the marks in Geography and Statistics, then what
would be the value of r&oHeAddd fnAvwifieashtdynotes.com

(@) Any value (b) Only1
() Only-1 (d) (b)or (c)
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29. When we are not concerned with the magnitude of the two variables under discussion, we
consider Downloaded From www.castudynotes.com

(a) Rank correlation coefficient (b) Product moment correlation coefficient
(c) Coefficient of concurrent deviation (d) (a) or (b) but not ().
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Downlgaded A gypnotes.com

#theoryhaizaruri W3



http://www.castudynotes.com
http://www.castudynotes.com

30. What is the quickest method to find correlation between two variables?
‘ Downloaded From www.castudynotes.com o
(@) Scatter diagram (b) Method of concurrent deviation

(c) Method of rank correlation (d) Method of product moment correlation

CA. PRANAV POPAT
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31. What are the limits of the coefficient of concurrent deviations?
. .. Downloaded From www.castudynotes.com
(a) No limit

(b) Between -1 and 0, including the limiting values
(c) Between 0 and 1, including the limiting values
(d) Between -1 and 1, the limiting values inclusive

CA. PRANAV POPAT

Downlgaded ANANAL CE dypotes.com
#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

32. If there are two variables x and y, then the number of regression equations could be
(@) 1 Downloaded From www.c(%s)tudi/notes.com

(c) Anynumber (d) 3.
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33. Since Blood Pressure of a person depends on age, we need consider
(a) The regreDs?svi’S}? %%‘9193@{85"1 SPBISFLUELERE VR a ge
(b) The regression equation of age on Blood Pressure
(c) Both (a) and (b)
(d) Either (a) or (b).
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34. The method applied for deriving the regression equations is known as

Downloaded From www. castLt%)jnotes .com

(a) Leastsquares ncurrent deviation

(¢) Product moment (d) Normal equation.

CA. PRANAV POPAT
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35. The difference between the observed value and the estimated value in regression analysis is

known as Downloaded From www.castudynotes.com
(a) Error (b) Residue
(c¢) Deviation (d) (a)or (b).
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36. The errors in case of regression equations are
(a) PositivRownloaded From www.castudynotfﬁ.)colqle,gatiVE

(c) Zero (d) All these.
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37. The regression line of y on x is derived by
(@) The minintiewtitvadsdFeeticalwlisaatedgnetdheavatter diagram
(b) The minimisation of horizontal distances in the scatter diagram
(c) Both (a) and (b)
(d) (a)or (b).

CA. PRANAV POPAT
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38. The two lines of regression become identical when
@) r=1 Downloaded From www.castudynoteaj‘jorq, -1

(c) r=0 (d) (a)or (b).
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39. What are the limits of the two regression coefficients?
L. Downloaded From www.castud nc}\t/fs.co
(@) No limit tlb}/ u

st be positive
(c) One positive and the other negative

(d) Product of the regression coefficient must be numerically less than unity.
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40. The regression coefficients remain unchanged due to a
(a) Shift of ORigin - o1 oM W CaSIUANIUES Bfife of scale

(c) Both (a) and (b) (d) (a)or (b).
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Jan 202l - Correlation.and.Regression

The regressioﬁ'coeﬁicients remain unchanged due to
(a) A shift of scale
(b) A shift of origin

(c) Replacing x - values by 1
X

(d) Replacing y values by 1 (1 mark)

CA. PRANAV POPAT
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Dec 2020 - Corgglakion.and.Regression

The covariance between two variables is

(a) Strictly positive

(b) Strictly negative

(c) Always Zero

(d) Either positive or negative or zero. (1 mark)

CA. PRANAV POPAT
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Scatter diagram does not help us to?

(a) Find the type of Bg\ll\lpéqg(ilegrrrom www.castudynotes.com
(b) ldentify whether variables correlated or not

(c) Determine the linear or non-linear correlation
(d) Find the numerical value of correlation coefficient

(1 mark)
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Which of the following is, spurious corre Ia‘?‘st'oJ} ! tes.com

(a) Correlation between two variables having no casual relationship
(b) Negative correlation

(c) Bad relation between two variables
(d) Very low correlation between two variables. (1 mark)

CA. PRANAV POPAT
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Nov 2019 - Corrglakion.and.Begesssion

If the plotted points in a scatter diagram lie from upper left to lower
right, then correlation is

(a) Positive

(b) Negative

(c) Zero

(d) None of these (1 mark)

CA. PRANAV POPAT
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May 2019 - Corrglakion.and.Regrsssion

A.M. of regression coefficients is
(a) Equaltor

(b) Greater than orequaltor
(c) Half of r

(d) None (1 mark)
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Nov 2018 - Corrglation.and.Regrsssion

The regression coefficient is independent of the change of:
(a) Scale (b) Origin
(¢) Scale and origin both (d) None of these (1 mark)

CA. PRANAV POPAT
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The two line of regresgion intersect at 1N RAIMotes.com
(a) Mean (b) Mode

(c¢) Median (d) None of these (1 mark)

CA. PRANAV POPAT
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May 2018 - Corrglatien and.Regrassion

Rank correlation coefficient lies between

(@) Oto1
(b) — 1 to +1 inclusive of these value

(c) —1t00
(d) both (1 mark)

CA. PRANAV POPAT
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Correlation coefficient is

of the units of measurement.

(a) dependent Downloaded Benindepeddyitotes.com

(c) both

(d) none

(1 mark)
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In the method of Concurrent Deviations, only the directions of change
(Positive direction/NBZ4tIVE GifdeHioHy ifthe WaHaBI8s are taken into
account for calculation of

(a) Coefficient of SD.

(b) Coefficient of regression

(c) Coefficient of correlation

(d) none (1 mark)
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The covariance betwganine M3raRIRS 4Studynotes.com

(a) Strictly positive

(b) Strictly negative

(c) Always Zero

(d) Either positive or negative or zero (1 mark)
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If the plotted points isg gaatierdagramare eyenlxdistributed, then the
correlation is

(a) Zero (b) Negative
(c) Positive (d) (a) Or (b) (1 mark)

CA. PRANAV POPAT
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StUdy Mat - Prolb\albjelcit% www.castudynotes.com

1. Initially, probability was a branch of
(a) Physics (b) Statistics

(c) Mathematics (d) Economics.

CA. PRANAV POPAT
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2.

om wWww.cas

(a) Subjective probability and objective probability

Two broad divisions of probability are

(b) Deductive probability and non—-deductive probability
(c) Statistical probability and Mathematical probability
(d) None of these.
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3.

Sub]'ective probab[?ﬁw(}ﬂgg,ﬁs%nmcﬁudynotes.com
(a) Mathematics (b) Statistics

(c) Management (d) Accountancy.
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4. An experiment is knoyg, to.be; FRRARM MK £esutlfs of the experiment
(a) Can not be predicted (b) Can be predicted

(c) Can be split into further experiments (d) Can be selected at random.

CA. PRANAV POPAT
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5.

An event that can be gplit intofurther nggg}ﬁoigswwn as
(a) Complex event (b) Mixed event

(c) Simple event (d) Composite event.
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6.

Which of the following pairs of events are mutually exclusive?

Downlqaded F d . : .
(@) A : The student reads 1n a s ool V"B He studies Philosophy.

(b) A :Raju was born in India. B : He is a fine Engineer.
(c) A :Ruma is 16 years old. B : She is a good singer.
(d) A : Peter is under 15 years of age. B : Peter is a voter of Kolkata.

CA. PRANAV POPAT
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7. If P(A) = P(B), then

Downloaded From www.cgstud note
(a) A and B are the same events aDS A'and B must be same events
(c) A and B may be different events (d) A and B are mutually exclusive events.

CA. PRANAV POPAT
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8.

It P(ANB) = 0, then the, tAGERREY ARE HuBEE com
(a) Mutually exclusive (b) Exhaustive

(c) Equally likely (d) Independent.

CA. PRANAV POPAT
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9. If for two events A agg, BB RWmwleathem deatnd B are
(a) Mutually exclusive events (b) Equally likely events

(c) Exhaustive events (d) Dependent events.

CA. PRANAV POPAT
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10. If an unbiased coin is tossed once, then the two events Head and Tail are
Downloaded From www.castudynotes.com

(a) Mutually exclusive (b) Exhaustive
(c) Equally likely (d) All these (a), (b) and (c).

CA. PRANAV POPAT

Downlgade

#theoryhaizaruri W3



http://www.castudynotes.com
http://www.castudynotes.com

11. If P(A) = P(B), then thg, tywamentsvinand, B ks com
(a) Independent (b) Dependent

(c) Equally likely (d) Both (a) and (c).

CA. PRANAV POPAT
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12. If for two events A and B P(A ~B) = P(A) x P(B), then the two events A and B are
Downloaded From wwiw. castudynotes com

(a) Independent (b) Dependent
(c) Not equally likely (d) Not exhaustive.

CA. PRANAV POPAT
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13. It P(A/B) = P(A)’ t]I!;'cf:\muloaded From www.castudynotes.com
(a) A is independent of B (b) B is independent of A

(c) Bis dependent of A (d) Both (a) and (b).

CA. PRANAV POPAT
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14. If two events A amdwBaredincependendgythen com
(a) A and the complement of B are independent
(b) B and the complement of A are independent
(c) Complements of A and B are independent
(d) All of these (a), (b) and (c).

CA. PRANAV POPAT
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15. If two events A and B areyindependssh m.‘castudynotes.com

(@) They can be mutually exclusive (b) They can not be mutually exclusive

(c) They can not be exhaustive (d) Both (b) and (c).

CA. PRANAV POPAT
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16. If two events A and B are mutually exclusive, then
Downloaded From www.castudynotes.com

(a) They are always independent (b) They may be independent
(¢) They can not be independent (d) They can not be equally likely.

CA. PRANAV POPAT
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17. 1If a coin is tossed twice, then the events 'occurrence of one head’, 'occurrence of 2 heads'
and 'occurrence of no headoangoaded From www.castudynotes.com

(a) Independent (b) Equally likely
(c) Not equally likely (d) Both (a) and (b).

CA. PRANAV POPAT
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18. The probability of an event can assume any value between

Downloade m www.cast tes.com

(a) —land 1 (b)) Oand 1
(c) —1and 0 (d) none of these.

CA. PRANAV POPAT
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19. If P(A) =0, then the epgmiidAded From www.castudynotes.com
(a) will never happen (b) will always happen

(c) may happen (d) may not happen.

CA. PRANAV POPAT
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20. If P(A) = 1, then the eygRkA4dS AR WRA3studynotes com
(a) symmetric event (b) dependent event

(c) improbable event (d) sure event.

CA. PRANAV POPAT
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21. If p : q are the odds in favour of an event, then the probability of that event is

Downloaded From www.castudynotes.com

P p
(@) b) 5ig
q
(c) p+q (d) none of these.

CA. PRANAV POPAT
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22. It P(A) =5/9, then the odds against the event A is

Downloaded From www.castudynotes.com

(@) 5:9 (b) 5:4
(c) 4:5 (d) 5:14

CA. PRANAV POPAT
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23. If A, B and C are mutualbg ﬁﬁglgdseiggrg%dw\%xhau%&;% gvents, then P(A) + P(B) + P(C)

w.cas
equals to

1
@ 3 (b) 1
(c) 0

(d) any value between 0 and 1.

CA. PRANAV POPAT
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24. If A denotes that a student reads in a school and B denotes that he plays cricket, then
Downloaded From www.castudynotes.com

(a) P(AnB) =1 (b) P(AuB)=1
(c) P(A~B)=0 (d) P(A) = P(B).

CA. PRANAV POPAT
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25. P(B/A) is defined only when

Downloaded From www.castudynotes.com

(a) A is a sure event

(c) A is not an impossible event

(b) B is a sure event

(d) Bis an impossible event.

CA. PRANAV POPAT
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26. P(A/B') is defined only when

Downloaded From www.castudynotes.com
(a) Bis not a sure event (b) Bis a sure event

(c) Bisan impossible event (d) Bis not an impossible event.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
Il



http://www.castudynotes.com
http://www.castudynotes.com

27. For two events A and B, P(A UB) = P(A) + P(B) only when
Downloaded From Www.castudinotes.com

(a) A and B are equally likely events A and B are exhaustive events
(c) A and B are mutually independent (d) A and B are mutually exclusive.

CA. PRANAV POPAT
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28. Addition Theorem of Pera i]jEX Jstates

ownioa

(a) P(AuB)=P(A) + P(B)
(c) P(AuB)=P(A)+ P(B)-PAnDB)

that
rom ww

f?ur d%leyemo events A and B,

w.cas

S.com

(b) P(AuB)=P(A) + P(B) + P(A~B)
(d) P(AuB)=P(A) x P(B)

CA. PRANAV POPAT
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29. For any two events A EMIIO:;dded From www.castudynotes.com
(a) P(A) + P(B) > P(A ~B) (b) P(A) + P(B) < P(A~B)

(c) P(A) + P(B) >P(AnB) (d) P(A)xP(B) < P(AnB)

CA. PRANAV POPAT
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30. For any two events A 8&5vhBaded From www.castudynotes.com
(a) P(A-B) = P(A) - P(B) (b) P(A-B) =P(A) - P(A~B)
(c) P(A-B) = P(B) - P(A ~B) (d) P(B-A) = P(B) + P(A ~ B).

CA. PRANAV POPAT
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31. The limitations of the classical definition of Erobabi]i
Downloaded From www.castudynotes.co
(a) itis applicable when the total number of elementary events is finite
(b) itis applicable if the elementary events are equally likely

(c) itis applicable if the elementary events are mutually independent

(d) (a) and (b).

CA. PRANAV POPAT
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32. According to the statistical definition of probability, the probability of an event A is the
(a) limiting value of the RS AFIEAERY. "MEATBIVARSAIN A occurs to the number of

times the experiment is repeated
(b) the ratio of the frequency of the occurrences of A to the total frequency
(c) the ratio of the frequency of the occurrences of A to the non-occurrence of A

(d) the ratio of the favourable elementary events to A to the total number of elementary
events.

CA. PRANAV POPAT
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33. The Theorem of Compound Probability states that for any two events A and B.
Downloaded From www.castudynotes.com

(a) P(AnB) =P(A) x P(B/A) (b) P(AuUB) =P(A) x P(B/A)
(c) P(A~B)=P(A) x P(B) (d) P(AuB)=P(B) + P(B) - P(A~B).

CA. PRANAV POPAT
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34. If A and B are mutually exclusive events, then
(a) P(A) _ P(A—B). Downloaded From www.castudy&c;&es??ﬁ) _ P(A—B).
(c) P(A) =P(AnNB). (d) P(B) = P(A~B).

CA. PRANAV POPAT
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35. If P(A-B) = P(B-A), the

‘Downloa

(a) P(A) = P(B).
(c) P(A~B)=0

ed

the two events A and B satisfy the condition

es.com

(b) P(A) + P(B) = 1
(d) P(AUB) =1

CA. PRANAV POPAT
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36. The number of conditiqns to be satisfied caé/tucgno >events A, B and C for complete
independence is

(a) M2 (b)
(c) 4 (d) any number.

(16.28) is the necessary and sufficient condition for the independence of two events. In a similar
manner, three events A, B and C are known as independent if the following conditions hold :

P(A ~B) = P(A) x P(B)
P(A~C) = P(A) x P(C)
P(BA~C) = P(B) x P(C)
P(AABA~C)=PA)x PB)xP(C) (16.29)

Downlgaded 3 gypnotes.com
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37. If two events A and Brghinndepandenty tasndDiddel B
(a) equals to P(A) + P(B) (b) equals to P(A) x P(B)

(c) equals to P(A) x P(B/A) (d) equals to P(B) x P(A/B).

CA. PRANAV POPAT
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38. Values of a random sz:iab

own}c?aélér(?From www.castudynotes.com

(a) always positive numbers. (b) always positive real numbers.

(c) real numbers. (d) natural numbers.

CA. PRANAV POPAT
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39. Expected value of a rgndom variable

(a) 1is always positive

rom www.castudynotes.com
(b) may be positive or negative

(c) may be positive or negative or zero (d) can never be zero.

CA. PRANAV POPAT
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40. If all the values taken by a random variable are equal then

(a) its expected value is Royioaded From www ¢pstuqygales#@%rd deviation is zero
(c) its standard deviation is positive (d) its standard deviation is a real number.

CA. PRANAV POPAT
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41. If x and y are independent, then

Downloaded From www.castudynotes.com

(a) E(xy) = E(x) x E(y) (b) E(xy) = E(x) + E(y)
(c) E(x-y)=EX) + E(y) (d) E(x-y)=E(x)+x E(y)

CA. PRANAV POPAT
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42.

If a random variable x assumes the values x X, , X, with corresponding probabilities

17 2’ 3’

P. P, Ps . P, then the expértud!vadae oom igww. castudynotes.com

(@) P, +p,+P;+P, (b) X, p,+%P;+ %P, + X, P,
€ p,X, tP, X, +Ps X, + P, X, (d) none of these.

CA. PRANAV POPAT
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43. f(x), the probability mass function of a random variable x satisfies
(a) f(x) >0 Downloaded From WWW'CaStUdy?BSeS'ﬁ(X)=1

(©) both () and (b) @) fx) >0 and T0)=1

CA. PRANAV POPAT
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44. Variance of a random variable x is given by
Downloaded From www.castudynotes.com

(@) E(x—p) (b) E [x - E(X)J?
(c) E(x*— k) (d) (a) or (b)

CA. PRANAV POPAT
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45. If two random variables x and y are related by y = 2 - 3x, then the SD of y is given by

Downloaded From www.castudynotes.com

(@) -3 x SD of x (b) "3 x SD of x.
(c) 9 x SD of x (d) 2 x SD of x.

CA. PRANAV POPAT
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Jan 202' - PrOba)b/“oiateyFrom www.castudynotes.com

An event that can be subdivided into further events is called as.

(a) A composite event

(b) A complex event

(c) A mixed event

(d) A simple event (1 mark)

CA. PRANAV POPAT
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J une 20 I 9 - P rQIb/abcieljilioX www.castudynotes.com

Two event A and B are such that they do not occurs simultaneously
then they are called events

(a) Mutually exhaustive

(b) Mutually exclusive

(¢) Mutually independent

(d) Equally likely (1 mark)

CA. PRANAV POPAT
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M ay 20 I 8 - P ro babi(ljatXm www.castudynotes.com

Sum of all probabilities mutually exclusive and exhaustive events is
equal to

(a) O (b) 1/2
(c) 1/4 (d) 1 (1 mark)

CA. PRANAV POPAT
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If two random variables x and y are related by y=2-3x, then the SD of
Downloaded From WWW.castudynotes.com

y is given by
(a) — 3 x SD of x (b) 3 x SD of x
(c) 9 x SD of x (d) 2 x SD of x (1 mark)

CA. PRANAV POPAT
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Variance of a rangoifi‘variayle* X i8°given by
(@) E(X-p)’ (b) E[X-EX)F
(c) E(X*—p) (d) (a)or(b)

CA. PRANAV POPAT

#theoryhaizaruri |



http://www.castudynotes.com
http://www.castudynotes.com

The theorem of compound probability states that for any two events
AanB Downloaded From www.castudynotes.com

(a) P (AN B)=P(A) x P(B/A)
(b) P (AU B)=P(A) x P(B/A)
(c) P (AN B)=P(A) x P(B)

(d) P(AuB)=P(A) + P(B) - P(AN B) (1 mark)

CA. PRANAV POPAT
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The term “chance” and pro

(a) True
(c) Both

%abll|¥daréers%n castudynotes com

None

CA. PRANAV POPAT
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Two broad divisions of probability are:

(a) Subjective probability Qﬂﬂngﬂfégtfvwwﬁéﬁﬂﬁ'fﬁy”mes com

(b) Deductive probability and mathematical probability

(c) Statistical probability and mathematical probability

(d) None of these (1 mark)

CA. PRANAV POPAT
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Study Mat - Thegretical.Distribution

1. A theoretical probability distribution.

(a) does not exist. (b) exists only in theory.
(c) exists in real life. (d) both (b) and (c).

CA. PRANAV POPAT
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2. Probability distribution ma\klr be
Down

_ loaded From www.castudynotes.com
(a) discrete. (b) continuous. (¢) infinite. (d) (a) or (b).

CA. PRANAV POPAT
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3.

An important discrete probability distribution is
(a) Poisson distributiof?ownloaded From www.castudiypagsr¢aal distribution.
(c) Cauchy distribution. (d) Log normal distribution.

CA. PRANAV POPAT
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An important continuous probability distribution
Downloaded From www.castudynotes.com
(a) Binomial distribution. (b) Poisson distribution.

(c) Geometric distribution. (d) Normal distribution.

CA. PRANAV POPAT
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5.

Parameter is a Charads%l\%lf:ogcfed From www.castudynotes.com

(a) population. (b) sample. (c) probability distribution. (d) both (a) and (b).

CA. PRANAV POPAT
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6.

An example of a parameter is

Downloaded From www.castud%Bgtes.co

(a) sample mean. popur?ation mean.

(c) binomial distribution. (d) sample size.

CA. PRANAV POPAT
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7.

A trial is an attempt to

(a) make something possiPRVnloaded From www.cgglugyARESEPRbthing impossible.
(c) prosecute an offender in a court of law.

(d) produce an outcome which is neither certain nor impossible.

CA. PRANAV POPAT
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8.

The important characteristic(s) of Bernoulli trials
(a) each trial is associated RAMYRAGCRFE BoVMBIEASLEAIRTES com

(b) trials are independent. (c) trials are infinite.
(d) both (a) and (b).

CA. PRANAV POPAT
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9.

The probability mass function of binomial distribution is given by
(a) f(x) = p* q ™~ Downloaded From www.castu(:ijq'(ga.c_omb Blaks
(C) f()() = ncx qx p " (d) f(){) = ncx Pn_x q E

CA. PRANAV POPAT
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10. If x is a binomial variable with parameters n and p, then x can assume
Downloaded From www.castudynotes.com
(a) any value between 0 and n.
(b) any value between 0 and n, both inclusive.
(c) any whole number between 0 and n, both inclusive.

(d) any number between 0 and infinity.

CA. PRANAV POPAT

Downlgaded ANANAL CE dypotes.com
#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

11. A binomial distribution is
Downloaded From www.castudynotes.com
(a) never symmetrical. (b) never positively skewed.

(c) never negatively skewed. (d) symmetrical when p = 0.5.

CA. PRANAV POPAT
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12. The mean of a binomial distribution with parameter n and p is
Downloaded From www.castudynotes.com

(a) n (1~ p). (b) np (1 - p). (c) np. (d) \np(1-p).

CA. PRANAV POPAT
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13. The variance of a binomial distribution with | parameters n and p is
Downloaded From www.castudynotes.com

(a) np? (1 - p). (b) /np(1-p). (c) nq (1 - q). (d) n%p? (1- p)-

CA. PRANAV POPAT
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14. An example of a bigyarametric discrete ]:C)robabi]i distribution is
ownloaded From www.castudynotes.com

(a) binomial distribution. (b) poisson distribution.

(c) normal distribution. (d) both (a) and (b).

CA. PRANAV POPAT
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15. For a binomial distribution, mean and mode

Downloaded From www.castudy cates.com

(a) are never equal. are always equal.

(c) are equal when q = 0.50. (d) do not always exist.

CA. PRANAV POPAT
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16. The mean of binomial distribution is
Downloaded From www.ca tud notes.com
(a) always more than its variance. ways equal to its variance.

(c) always less than its variance. (d) always equal to its standard deviation.

CA. PRANAV POPAT
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17. For a binomial distribution, there may be
(a) one mode. (BYERRAAF FEm www.castydyaoies-Go0Ye. (d) (a) or (b).

CA. PRANAV POPAT
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18. The maximum value of thg variance of a binomial djstribution with parameters n and p is
ownloaded From www.castudynotes.com

(a)n/2. (b)n/4. (c) np (1 - p). (d) 2n.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
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19. The method usually HPSHECI for fitting a binomial distribution is known as
ownloaded From www.castudynotes.com
(a) method of least square. (b) method of moments.

(c) method of probability distribution. (d) method of deviations.

CA. PRANAV POPAT
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20. Which one is not a condition of Poisson model?
(a) the probability of haviRg"§12288¢ FCI AT AHE YTV SRR constant.
(b) the probability of having success more than one in a small time interval is very small.

(c) the probability of having success in a small interval is independent of time and also of
earlier success.

(d) the probability of having success in a small time interval (t, t + dt) is kt for a positive
constant k.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
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21. Which one is uniparametric diFtribution?
Downloaded From www.castudynotes.com

(a) Binomial. (b) Poisson. (c) Normal. (d) Hyper geometric.

CA. PRANAV POPAT
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22. For a Poisson distribution,
Downloaded From www.castudynotes.com
(a) mean and standard deviation are equal. (b) mean and variance are equal.

(c) standard deviation and variance are equal. (d) both (a) and (b).

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
Il



http://www.castudynotes.com
http://www.castudynotes.com

23. Poisson distribution mayD]?)\e}i/nloaded From www.castudynotes.com
(a) unimodal. (b) bimodal. (c) Multi-modal. (d) (a) or (b).

CA. PRANAV POPAT
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24. Poisson distribution is
Downloaded From www.castudynotes.com
(a) always symmetric. (b) always positively skewed.

(c) always negatively skewed. (d) symmetric only when m = 2.

CA. PRANAV POPAT
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25. A binomial distribution with parameters n and p can be approximated by a Poisson
distribution with paramet@i"mlgaﬂﬁjigmm www.castudynotes.com

(@) n > oo. (b) p — 0.

(c) n > wand p — 0. (d) n > o and p — 0 so that np remains finite..

CA. PRANAV POPAT
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26. For Poisson fitting to an observed frequency distribution,

Downloaded w castudy

(a) we equate the Poisson paramefer o T SHeaR B2 R tréquency distribution.

(b) we equate the Poisson parameter to the median of the distribution.
(c) we equate the Poisson parameter to the mode of the distribution.

(d) none of these.

CA. PRANAV POPAT
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27. The most important continuous probability distribution is known as

(a) Binomial distribution2°"/n'oaded From www. Cas[‘f')(jyﬁocfﬁ'a%q distribution.
(c) Chi-square distribution. (d) Sampling distribution.

CA. PRANAV POPAT
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28. The probability density function of a normal variable x is given by

Downloaded From www.castudynotes.com

_Lxomyo
L 250

(@) f(x) =

oA 2T

for 0 < x < o,

1 A\
(b) 09 = 0 =~

1
(o) f(x) = -\/QE'

(d) none of these.

Downlgaded VWW.Ca tes.com
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29. The total area of the normal curve is

(a) e Downloaded From www. cggjugejnotescen

(c) 0.50. (d) any value between 0 and 1.

CA. PRANAV POPAT
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30. The normal curve is

(a) Bell—shape d. Downloaded From www.cast(lf)(jyﬂj)_t%%%%rré d.
(c) J-shaped. (d) Inverted J-shaped.

CA. PRANAV POPAT
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31. The normal curve is
. Downloaded From www.castudynotes.com
(a) positively skewed. (b) negatively skewed.

(c) symmetrical. (d) all these.

CA. PRANAV POPAT
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32. Area of the normal curve
(a) between — o to p is 534
(c) between — o to o is 0.50.

nloaded From WWW'CaStﬂgj'%%t

NEen w to oc is 0.50.

(d) both (a) and (b).

CA. PRANAV POPAT
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33. The cumulative distgibution fupction of, afansomeoagaple X is given by
(@) F(x) =P (X < x). (b) F(X) =P ( X < x).

(c) F(x) =P (X 2 x). (d) F(x) =P ( X =x).

CA. PRANAV POPAT
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34. The mean and mode of a normal distribution

(a) may be equal. Downloaded From WWW'CaStUd%BStﬁ?éC:)?IBe different.
(c) are always equal. (d) (a) or (b).

CA. PRANAV POPAT
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35. The mean deviation about median of a standard normal variate is
(@) 0.675 . (Bfplg3eed From www.cagiydygefgs.com (d) 0.80.

CA. PRANAV POPAT
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36. The quartile deviation of a normal distribution with mean 10 and SD 4 is
(a) 0.675. (53°87!8gded From www.caglyidy Bgyes.com (d) 3.20.

CA. PRANAV POPAT
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37. For a standard normal distribution, the npomts of inflexion are given by
Downloaded From www castudynotes.com

(@ p-oand p + o. (b) - o and o. (c) -1 and 1. (d) 0 and 1.

CA. PRANAV POPAT
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38. The symbol ¢ (a) indicates the area of the standard normal curve between
Downloaded From www.castudynotes.com
(@) 0 to a. (b) a to . (c) — < to a. (d) — oc to oc.

CA. PRANAV POPAT
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39. The interval (u - e 30) covers
Downlo ded From www.castudynotes.com
(a) 95% area of a normal distribution.
(b) 96% area of a normal distribution.
(c) 99% area of a normal distribution.

(d) all but 0.27% area of a normal distribution.

CA. PRANAV POPAT
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40. Number of misprints per page of a thick book follows
o _ Downloaded From www.castudynotes.com .
(a) Normal distribution. (b) Poisson distribution.

(c) Binomial distribution. (d) Standard normal distribution.

CA. PRANAV POPAT

Downlgad 2 gypnotes.com
Il



http://www.castudynotes.com
http://www.castudynotes.com

41. The results of ODI matches between India and Pakistan follows

(a) Binomial distribudtfyyf!0aded From www.castudypgiepGaon distribution.

(c) Normal distribution. (d) (b) or (c).

CA. PRANAV POPAT
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42. The wage of workers of a factory follow

(a) Binomial distributifqwnloaded From www.castugiyn g3 distribution.
(c) Normal distribution. (d) Chi-square distribution.

CA. PRANAV POPAT
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. If X and Y are two independent normal random variables, then the distribution of (X+Y)

is Downloaded From www.castudynotes.com
(a) normal. (b) standard normal.
(o) T. (d) chi-square.

CA. PRANAV POPAT
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Jan 202' - TD Downloaded From www.castudynotes.com

For a normal distribution, the value of third moment about mean is.
(@) 0
(b) 1
(c) 2
(d) 3 (1 mark)
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Which one of the following is an uniparametric distribution?

(a) Poisson Downloaded From www.castudynotes.com

(b) Normal

(c) Binomial

(d) Hyper geometric (1 mark)

CA. PRANAV POPAT
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Dec 2020 - TD Downloaded From www.castudynotes.com

Which one of the following has Poisson distribution?

(@) The number of days to get a complete cure.

(b) The number of defects per meter on long roll of coated polythene
sheet.

(c) The errors obtained in repeated measuring of the length of a rod.

(d) The number of claims rejected by an insurance agency. (1 mark)
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If we change the parameter(s) ofa ______ distribution the sharpe of
probability curve does not CR&%&a}ded From www.castudynotes.com

(a) Normal
(b) Binomial
(c) Poisson
(d) Non-Gaussion (1 mark)

CA. PRANAV POPAT
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If the probability of success in a binomial distribution is less than one-
half, then the binomial distridigtiofpaded From www.castudynotes.com
(a) is skewed to left

(b) is skewed to right
(c) has two modes
(d) has median at a point > mean + 1/2 (1 mark)
Mean
Median Median Median
Mode — Mean—: — Mode
Positive Symmetrical Negative
Skew Distribution Skew
Mean > Median > Mode Mean = Median = Mode Mean < Median < Mode
Right Skewed Left Skewed

X O Y notes.com
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Which of the following is uni-parametric distribution?

(a) Poisson Downloaded From www.castudynotes.com

(b) Normal

(c) Binomial

(d) Hyper geometric (1 mark)

CA. PRANAV POPAT
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Nov 20I19

For a Poisson distribution:
(a) mean and SD are equal

Downloaded From www.castudynotes.com

mean and variance are equal

(b)
(¢) SD and Variance
(d) bothaandb

CA. PRANAV POPAT

(1 mark)
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Area under U = 30
(a) 99.73%

(b) 99%

(c) 100%

(d) 99.37%

CA.

Downloaded From www.castudynotes.com

PRANAV POPAT
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June 2019

Downloaded From www.castudynotes.com

Area between = 1.96 to + 1.96 in a normal distribution is:

(a) 95.45%
(b) 95%
(C) 96%
(d) 99%

CA. PRANAV POPAT
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N OV 20 I 8 Downloaded From www.castudynotes.com

What is the mean of X having the following density function?
~(x - 10)?

f(x) = 1 & 3 for—oco<x<oo
4/2 1T
(@) 10 (b) 4
(c) 40 (d) None of the above (1 mark)

CA. PRANAV POPAT
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M a)' 20 I 8 Downloaded From www.castudynotes.com

If the area of

standard normal curve betweenz=0toz=1is 0.3412,

then the value of ¢ (1) is.

(a) 0.5000
(c) —0.5000

(b) 0.8413
(d) 1 (1 mark)

CA. PRANAV POPAT
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Probability distribution may be
(a) discrete DownIeB(je%ﬁﬁwﬂmgstudynotes.com
(c) infinite (d) (a) or (b)

CA. PRANAV POPAT
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An example of a bi-parametric discrete Fprn:}babilitg distribution is
d From www.castudynotes.com

(a) binomial distribution DOW(qua oisson distribution

(c) normal distribution (d) both (a) and (b) (1 mark)

CA. PRANAV POPAT
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The variance of a binomial chtn ugo&%l%h | parameters d p is:

(a) np? (1-p) Y Y (g P
(©) nq(1-q) (d) n%p? (1-Py? (1 mark)

CA. PRANAV POPAT
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Study Mat - Index.Numbers.and.Jime Series

1. A series of numerical figures which show the relative position is called

a) index number  b) relative number c¢) absolute number d) none

CA. PRANAV POPAT
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2.

Index number for thg hase.pesivdviscawiapsdaken as
a) 200 b) 50 c) 1

CA. PRANAV POPAT
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play a very important part in the construction of index numbers.
ownloaded From www.castudynotes.com

a) weights b) classes c) estimations d) none

CA. PRANAV POPAT
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is particularly suitable for the construction of index numbers.
.cast tes.
a) H.M. PR From www.castudyjotes.com d) none

CA. PRANAV POPAT
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5.

Index numbers show changes rather than absolute amounts of change.
Downloaded From www.castudynotes.com

a) relative b) percentage c) both d) none

CA. PRANAV POPAT
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The

a) A.M.

makes i glEmbers time- tra.:: ers
own oa ed From www.castud es Com

b) G.M. c)H d) none

CA. PRANAV POPAT
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7. Price relative is equal to
Downloaded From www.castudynotes.com
Price in the given year x100 b) Price in the year base year x 100

Price in the base year Price in the given year

a)

c) Price in the given year x 100 d) Price in the base year x 100

CA. PRANAV POPAT
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8.

Index number is equal to

: ownloaded From www.castudynotes.co _ .
a) sum of price relatives 1533 a%/rerage of the price relatives
c) product of price relative d) none

CA. PRANAV POPAT
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The

a) H.M.

%v indices gives the General Index
nIo ded From Www.castudynotes.com

c) AM

d) none

CA. PRANAV POPAT
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10. Circular Test is one of the tests of

a) index numbeROWIAHSHSTRELWWW castufygigs.com

d) none

CA. PRANAV POPAT
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11. is an extension of time reversal test
a) Factor Qverafgesom WWW'CaStUdynOt%S)'C&Tcular test

c) both d) none

CA. PRANAV POPAT
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12. Weighted C.M. of relative formula satisfy test
a) Time Ré&xewgiapest From www.castudynolgy Cofgular test

c) Factor Reversal Test d) none

CA. PRANAV POPAT
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13. Factor Reversal test is satisfied by

a) Fisher’s Ides"fhgased From www. castudylg)o speyres Index
c) Paasches Index d) none

CA. PRANAV POPAT
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14. Laspeyre's formula does not satisfy
Downloaded From www:castudynotes.com

a) Factor Reversal Test b) Time Reversal Test
¢) Circular Test d) all the above

CA. PRANAV POPAT
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15. A ratio or an average of ratios expressed as a percentage is called

a) a relative RAWaded From www.castudypgtes eyl te number
¢) an index number d) none

CA. PRANAV POPAT
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16. The value at the base time period serves as the standard point of comparison

a) false Dgva]ﬁ%ded From www.%cjl%%(mnotes.com d) none

CA. PRANAV POPAT
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17. An index time series is a list of numbers for two or more periods of time
. Downloaded From www.castudynotes.com
a) index b) absolute c) relative d) none

CA. PRANAV POPAT
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18.

Index numbers are often constructed from the
Downloaded From www.castudynotes.com

a) frequency b) class c) sample d) none

CA. PRANAV POPAT
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19.

is a point of reference in comparing various data describing individual behaviour.
Downloaded From www.castudynotes.com
a) Sample b) Base period c) Estimafion d) none

CA. PRANAV POPAT
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20. The ratio of price of single commodity in a given period to its price in the preceding year
price is called the Downloaded From www.castudynotes.com

(a) base period (b) price ratio (c) relative price (d) none

CA. PRANAV POPAT
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Sum of all commodity prices in the current year x 100

21. Dovntoaded-; FI'DTU‘WﬁVqW‘?STU‘d’YH‘OTES‘CO‘HT
Sum of all commodity prices in the base year is

(a) Relative Price Index (b) Simple Aggregative Price Index
(c) both (d) none

CA. PRANAV POPAT
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22. Chain index is equal to
@) link relative of Quorrelbtdeehfrsnchain castdelynotesthemcurrent year
100

(b) link relative of previous year x chain index of the current year
100

© link relative of current year x chain index of the previous year

100

(d) link relative of previous year x chain index of the previous year
100

CA. PRANAV POPAT
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23. P, is the index for tgpgnioaded From www.castudynotes.com
(@ 1on0 (b) O on 1 (©)1lonl (d)Oon0
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24. P, is the index for time
Downloaded From www.castudynotes.com

(@)1 on0 (b)) Oon 1 (c)1onl (d)Oon O

CA. PRANAV POPAT
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25. When the product of price index and the quantity index is equal to the corresponding
value index then the teSCYHYPRAGERM www.castudynotes.com

(a) Unit Test (b) Time Reversal Test
(c) Factor Reversal Test (d) none holds

CA. PRANAV POPAT
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26. The formula should be independent of the unit in which or for which price and quantities

A= quoted in Downloaded From www.castudynotes.com
(@) Unit Test (b) Time Reversal Test
(c) Factor Reversal Test (d) none

CA. PRANAV POPAT
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27. laspeyre's method and Paasche’s method do not satisfy

(a) Unit Test Downloaded From WWW'CaStUdyﬂﬂtmeversal Test
(c) Factor Reversal Test (d)b &c

CA. PRANAV POPAT
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28. The purpose determines the type of index number to use

(a) yes D(B\jvnloaded From www. fc%sltﬁ%? tes com (d) may not be

CA. PRANAV POPAT
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29. The index number is a special type of average
(a) false Iﬁgi/vprlagded From www(%zjl%%(%notes.com (d) none

CA. PRANAV POPAT
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30. The choice of suitable base period is at best temporary solution
Downloaded From www.castudynotes.com
(a) true (b) false (c) both (d) none

CA. PRANAV POPAT
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31. Fisher’s Ideal Formula for calculating index numbers satisfies the tests

) Downloaded From www.castudﬁnotes.com
(a) Unit Test (b) Factor Reversal Test

(c) both (d) none

CA. PRANAV POPAT
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32. Fisher’s Ideal Formula dose not satisfy ~ test
Downloaded From www.castudynotes.com
(a) Unit Test

(b) Circular Test (c) Time Reversal Test (d) none

CA. PRANAV POPAT
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33.

satisfies circular test

wnloaded From ww

. D .
a) G.M. of price relatives or the we1gv¥1te a

castudynotes.com

geregate with fixed weights

b) A.M. of price relatives or the weighted aggregate with fixed weights

c) H.M. of price relatives or the weighted aggregate with fixed weights

d) none

CA. PRANAV POPAT
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34. Laspeyre's and Paasche’s method time reversal test

. Downloaded From www.castudynotes.com
(a) satisfy (b) do not satisty ~ (c) are (d) are not

CA. PRANAV POPAT
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35. There is no such thing as unweighted index numbers
Downloaded From www.castudynotes.com
(a) false (b) true (c) both (d) none

CA. PRANAV POPAT
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36. Theoretically, G.M. is the best average in the construction of index numbers but in practice,
mostly the A M. isused  pownloaded From www.castudynotes.com

(a) false (b) true (c) both (d) none

CA. PRANAV POPAT

Downlgaded ANANAL CE dypotes.com
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37. Laspeyre’s or Paasche’s or the Fisher’s ideal index do not satisfy

. Downlgaded From www.castudynotes.co
(a) Time Reversal Test y?b)eﬁfmtm[est

(c) Circular Test (d) none

CA. PRANAV POPAT
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38.

when it is desirable to sRiftviilpatheddrom www.castudynotes.com

(a) Unit Test (b) Circular Test
(c) Time Reversal Test (d) none

CA. PRANAV POPAT
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39. The test of shifting the base is called

(a) Unit Test
(c) Circular Test

Downloaded From www.castudyr(\Bj

“PiRie Reversal Test
(d) none

CA. PRANAV POPAT
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40. The formula for conversion to current value
Dcigvnlo gFro ww.castudynotes.com
rice Index of e current year
(a) Deflated value =

previous value

b) Deflated value = current value
(b) Deflated value Price Index of the current year

(c) Deflated value = Price Index of the previous year

previous value

Price Index of the previous vear
(d) Deflated value = p y

previous value T
Wwhiivlieo N NN AT WENYW § N A
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i : Original Price Index x100
41. Shif In Sl |
Phiited price Do N Y AR VORI H KHich it has to be shifted
(a) True (b) false (c) both (d) none

CA. PRANAV POPAT
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42. The number of test of Adequacy is
(a) 5 Dowa!)ciagled From www.castlésjyj\otes.com (d) 4

CA. PRANAV POPAT
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43. We use price index numbers

(@) To meagﬁwme&gﬁ%ﬁf%%%ﬁwdynofﬁi'1?8 'theasure prices

(c) to compare prices (d) none

CA. PRANAV POPAT
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44. Simple aggregate of quantities is a type of

() QuantiB?\ﬁB{?ﬁ%Td From www.castudynotfﬁ.@{ganﬁty indices
(c) both (d) none
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1) An orderly set of data arranged in accordance with their time of occurrence is called:
) ‘ ‘ Downloaded From www.castudynote_s.com‘
(a) Arithmetic series (b) Harmonic series

(c) Geometric series (d) Time series

CA. PRANAV POPAT
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2) A time series consists of:
Downloaded From www.castydynotes.com
(a) Short-term variations ﬂ) ong-term variations

(c) Irregular variations (d) All of the above

CA. PRANAV POPAT
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3) The graph of time serjes is called:

Downloade om www.castudynotes.com
(a) Histogram (b) Straight line
(c) Historigram (d) Ogive

CA. PRANAV POPAT

Downlgade

#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

4) Secular trend can be measured by:

(a) Two met}[l)gggloaded From Www.castudynotfg)c%ree e b

(c¢) Four methods (d) Five methods

CA. PRANAV POPAT
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5) The secular trend is measured by the method of semi-averages when:

. . Downloaded Frcim wwiN.castudynotes.com
(a) Time series based on yearly values

(b) Trend is linear
(c) Time series consists of even number of values
(d) None of them

CA. PRANAV POPAT
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6) Increase in the number 0 dgatlents in the hosEltal due to heat stroke is:

Downloaded From www.castudyhotes.com
(a) Secular trend (b) Irregular variation
(c) Seasonal variation (d) Cyclical variation

CA. PRANAV POPAT
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7) The systematic components of time series which follow regular pattern of variations are called:

(a) Signal Downloaded F(lgj)jnlw&\évecastudynotes.com
(c) Additive model (d) Multiplicative model

CA. PRANAV POPAT
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8) The unsystematic sequence which follows irregular pattern of variations is called:

Downloaded From www.castudynotes.com

(a) Noise (b) Signal
(c) Linear (d) Non-linear

CA. PRANAV POPAT
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9) In time series seasonal variations can occur within a period of:

Downloaded From www.castudynotes.com
(a) Four years (ibﬁ Three years
(c) One year (d) Nine years

CA. PRANAV POPAT
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11) The method of moving average is used to find the:
Downloaded From www.castudynotes.com o
(@) Secular trend (b) Seasonal variation

(c) Cyclical variation (d) Irregular variation

CA. PRANAV POPAT
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12) Most frequencg used mathematical model of a time series is:
ownloaded From www.castudynotes.com

(a) Additive model (b) Mixed model
(c) Multiplicative model (d) Regression

CA. PRANAV POPAT
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13) A time series consists of:
(a) No mathematical moderc oM VW CaSttbdi/neinsécﬁ{gmematlcal model

(c) Two mathematical models (d) Three mathematical models

CA. PRANAV POPAT
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14) In semi-averages method, we decide the data into:

ownloaded From Www.castudynotiﬁ)c

(a) Two partsD Two equal parts

(c) Three parts (d) Difficult to tell

CA. PRANAV POPAT
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15) Moving average method is used for measurement of trend when:
Downloaded From www.castudynotes.com

(a) Trend is linear (b) Trend is non-linear

(c) Trend is curvi linear (d) None of them

CA. PRANAV POPAT
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16) When the trend is of exponential type, the moving averages are to be computed by using;:

) ) Downloaded From www.castudynotes.com
(a) Arithmetic mean (b) Geometric mean

(c) Harmonic mean (d) Weighted mean

CA. PRANAV POPAT
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17) The long term trend of a time series graph appears to be:

- - Downloaded F _ d _
(a) Straight-line ownioaded From Ww%gaﬁupeglﬂgs com

(c) Downward (d) Parabolic curve or third degree curve

CA. PRANAV POPAT
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18) Indicate which of the following an example of seasonal variations is:

(a) Death rate dec?R¥SER WIS R HEVISAHPRYURE™

(b) The sale of air condition increases during summer
(c) Recovery in business

(d) Sudden causes by wars

CA. PRANAV POPAT
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19) The most commonly used mathematical method for measuring the trend is:

From www.castuﬂgj'\o

: Downloade S.CO
(a) Moving average metho mi average method

(c) Method of least squares (d) None of them

CA. PRANAV POPAT
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20) A trend is the better fitted trend for which the sum of squares of residuals is:

) Downloaded From www.castudynotes.com
(a) Maximum (b) Minimum

(C) C]? ?ﬁil!:iﬂlﬁfifllfﬂ of Chartered Aceconntants af ﬂ}lly egative

CA. PRANAV POPAT
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21) Decomposition of time series is called:
Downloaded From Www.castu(%)snotes.com

(a) Historigram Analysis of time series

(c) Histogram (d) Detrending

CA. PRANAV POPAT
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22) The fire in a factory is an example of:
D loaded F .cast .com
(a) Secular trend ~° ' oaceq oM WWIW.CAS u%rjogféasonal movements

(c) Cyclical variations (d) Irregular variations

CA. PRANAV POPAT
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23) Increased demand of admission in the subject of computer in Uttar Pradesh is:

Downloaded From www.castudynotes.com

(a) Secular trend (b) Cyclical trend
(c) Seasonal trend (d) Irregular trend

CA. PRANAV POPAT
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24) Damages due to floods, droughts, strikes fires and political disturbances are:

(a) Trend Downloaded From WWW-C@)S)tugxénotes.c m

asona
(c) Cyclical (d) Irregular

CA. PRANAV POPAT
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25) The general pattern of increase or decrease in economics or social phenomena is shown by:
(a) Seasonal trend Downloaded Fromdg\jvw ﬁ’dzi"%—es C

(c) Secular trend (d) Irregular trend

CA. PRANAV POPAT
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26) In moving average method, we cannot find the trend values of some:
(a) Middle periods Downloaded From WWW'C%ﬂdm&i)%ds
(c) Starting periods (d) Between extreme periods

CA. PRANAV POPAT
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27) Moving-averages:

(a) Give the trend in aRWPAISRTAE™ WWW B85 IOKELLT & e seasonal variations

(c) Smooth-out the time series

CA. PRANAV POPAT
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28) The rise and fall of a time series over periods longer than one year is called:

Downloaded From www.castlt%n es.com

(a) Secular trend asonal variation

(c) Cyclical variation (d) Irregular variations

CA. PRANAV POPAT
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29) A time series has:
Downloaded From www.castudynotes.com

(a) Two Components (b) Three Components

(c) Four Components (d) Five Components

CA. PRANAV POPAT
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30) The multiplicative time series model is:
(a) Y=T+S+C Rol/vnloaded From Www.castu%rjotﬁ,sé%CI

(c) Y=a+bx (d) y=a+bx+Cx2

CA. PRANAV POPAT
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31) The additive model of Time Series
(a) Y=T+S+ 80_\Lvriloaded From www.castudyr@aes§o=mTSCI
(d) y=a+bx+Cx2

ﬂcﬁc'}'hn 'l'l&fl-lr.ll o nf ('harterad Acceanntante af Indi

CA. PRANAV POPAT
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32) A pattern that is repeated throughout a time series and has a recurrence period of at most one

year 1S called: Downloaded From www.castudynotes.com
(a) Cyclical variation (b) Irregular variation

(c) Seasonal variation (d) Long term variation

CA. PRANAV POPAT
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33) If an annual time series consisting of even number of years is coded, then each coded interval is

equal to: Downloaded From www.castudynotes.com
(a) Half year (b) One year
(c) Both (a) and (b) (d) Two years

CA. PRANAV POPAT

Downlgad 2 gypnotes.com

q W ca



http://www.castudynotes.com
http://www.castudynotes.com

34) In semi averages method, if the number of values is odd then we drop:

Downloaded From www.castud tes.co
b)°T:83

(a) First value ast value

(c) Middle value (d) Middle two values

CA. PRANAV POPAT
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35) The trend values in freehand curve method are obtained by:
Downloaded From www.castudynotes.com

(a) Equation of straight line (b) Graph
(c) Second degree parabola (d) All of the above

CA. PRANAV POPAT
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Jan 202' Downloaded From www.castudynotes.com

The cost of living index is always
(a) Price index number

(b) Quantity index number

(c) Weighted index number

(d) Value index number

CA. PRANAV POPAT
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Fisher's index number does not satisfy

(a) Unit test Downloaded From www.castudynotes.com

(b) Circular test
(c) Time reversal test
(d) Factor reversal test

CA. PRANAV POPAT
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When the prices for quantities consumed of all commodities are

changing in the same ratio, thertbevinbiradresnBersduetalaapayds/saotes.com
and Paasche’s will be.

(a) Equal

(b) Unequal

(c) Reciprocal of Marshall Edge worth Index Number

(d) Reciprocal of Fisher Index Number (1 mark)

CA. PRANAV POPAT
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In a time series on yearly production, there will be no variations.

EE‘; Q:;s(:mal Downloaded From www.castudynotes.com
(c) Cyclical
(d) lrregular (1 mark)

CA. PRANAV POPAT
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The fire in a factory is an example of:
() Secular trenc PO} S SALBAAT tHGVEIEISEE® O

(c) Cyclical trend (d) Irregular variations (1 mark)

CA. PRANAV POPAT
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N OV 2020 Downloaded From www.castudynotes.com

Fisher's ideal Index Number does not satisfy test
(a) Circular

(b) Time reversal

(c) Factor Reversal

(d) Unit

CA. PRANAV POPAT
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Index Numbers are exprlesdsgd as d
b F cast tes.
(a) Squares ownloaded From www.castudynotes.com

(b) Ratio
(c) Percentages
(d) Combinations

CA. PRANAV POPAT
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In Laspeyre's index number is 110 and Fisher's ideal index number

is 109. Then Paasche's inde:Downbeaded From www.castudynotes.com
(a) 118

(b) 110

(c) 109

(d) 108 {1 mark)

CA. PRANAV POPAT
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Decomposition of time series is known as
(a) Detrending Downloaded From www.castudynotes.com

(b) Histogram
(c) Analysis of time series
(d) Historiagram

CA. PRANAV POPAT
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In time series seasonal vagiatigns,can ageyr within apstiod of,
(a) One year | |

(b) Three year
(c) Nine year
(d) Five year (1 mark)

CA. PRANAV POPAT
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The Component of time series attached to long term variation is
(a) Secular trend Downloaded From www.castudynotes.com

(b) Cyclical trend
(c) Irregular trend
(d) Long period (1 mark)

CA. PRANAV POPAT
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variations are usdyaiyaluages Enan/as y@abtes .com

(a) Seasonal

(b) Cyclical

(c) Trend

(d) None (1 mark)

CA. PRANAV POPAT
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N OV 20 I 9 Downloaded From www.castudynotes.com

When sale of cold drink increases in summer and decreases in winters
is an example of?

(a) Seasonal variations

(b) Cyclic variations

(c) Secular trend

(d) Mone

(1 mark)

CA. PRANAV POPAT
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Seasonal Variations take placgwithidtd From www.castudynotes.com
(a) one year

(b) two year

(c) half year

(d) five years

CA. PRANAV POPAT
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Fisher's index number does not satisfy:
[E} Circular test Downloaded From www.castudynotes.com

(b) Time reversal test
(c) Factor reversal test
(d) Unit test

CA. PRANAV POPAT
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In semi-average method if the no. of values is odd, we exclude :
(a) First value Downloaded From www.castudynotes.com

(b) Last value
(e} Middle value
(d) None. (1 mark)

CA. PRANAV POPAT
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Time series has how many components?
(a) Two
(b) Three
(c) Four
(d) Five

Downloaded From www.castudynotes.com
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May 2019

Downloaded From www.castudynotes.com

Which is called an ideal index numbers
(a) Laspeyre’'s index number

(b) Pasche’s index number

(c) Fisher's index number

(d) Marshall Edgeworth index number

CA. PRANAV POPAT
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In semi averages method, if the number of values is odd then we drop:
(a) First value Downloaded From www.castudynotes.com

(b) Last value
(c) Middle value
(d) Middle two value (1 mark)

CA. PRANAV POPAT
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Which is not satisfied by Fisher's ideal index number?

{a] Factor Reversal Test Downloaded From www.castudynotes.com
(b) Time Reversal Test

(c) Circular Test

(d) None of the above

CA. PRANAV POPAT
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Trend in semi averages is:
(a) Linear

(b) Parabola

(c) Exponential

(d) None

Downloaded From www.castudynotes.com
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The most commonly used mathematical method for finding secular

trend is

Downloaded From www.castudynotes.com

(a) Moving average
(b) Simple average
(c) Exponential

(d) None

(1 mark)

CA. PRANAV POPAT
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N OV 20 I 8 Downloaded From www.castudynotes.com

Which of the following statement is true?
(a) Paache's Index Number is based on the base year quantity

(b) Fisher's Index Number is the Arithmetic Mean of Laspeyre’s Index
Number and Paache’s Index number

(c) Arithmetic Mean is the most appropriate average for constructing
the index number

(d) Fisher's Index Number is an ldeal Index Number (1 mark)

CA. PRANAV POPAT
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The simple average method_is use&i é alculalégs tudynotes.com
yc

(a) Trend Variation o B"i

|Gailv‘\3'ar|at| n

(c) Seasonal Variation (d) Irregular Variation

CA. PRANAV POPAT

Downlgaded

#theoryhaizaruri



http://www.castudynotes.com
http://www.castudynotes.com

—_— e WS

The sale of Cold Drink would gg,up in summers and go ‘3 wn in the
winters is an example of

(a) Trend Variation (b) Cyclical Variation
(c) Seasonal Variation (d) lIrregular Variation (1 mark)

CA. PRANAV POPAT
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M a)’ 20 I 8 Downloaded From www.castudynotes.com

The multiplicative time series model is
(@) y =T+S+C+l (b) y=TSCI
(c) y = a+bx (d) y = a+bx+cx® (1 mark)

CA. PRANAV POPAT
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Circular test is satisfied bg

(a) Lespeyre’s Index Nqu rtlal?aded From www.castudynotes.com

(b) Paasche’s Index Number

(c) The simple geometric mean of price relatives and the weighted
aggregative with fixed weights.

(d) None of these (1 mark)

CA. PRANAV POPAT
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Price -relative is expressed in term of

Pﬂ
(@) P= "

0

() P= %MOO

o

Downloaded From wvl\QN.castudynotes.com
(b) P=
Pn

(d) P= %moo

n

PRANAV POPAT
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The circular test is an extension of
(a) The time is reversal testnloadbd Fiblmervactorstirdversalctest
(¢) The unit test (d) None of these.
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P,, is the index for time |
(a) 1on0 DownIoadeg)Frﬁmovlylw.'v.castudynotes.com

(C) 1on1 (d) OonoO
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The number of test of Adequacy is:
(a) 2 Downloaded Fror(HyW\s.castudynotes.com

(c) 3 (d) 4
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A series of numerical figures which show the relative position is called.
(a) Index number DownloadgbifroRelativestussmioes.com
(c) Absolute number (d) None (1 mark)
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Time reversal & factorrQVRISaL&18n www castudynotes.com
(a) Quantity Index (b) Ideal Index

(c) Price Index (d) Test of consistency
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